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Intasdf release /* closeldJ [ */(struct inode *inode,struct file
*filp){printk("~_~: close\n ").return 0.}static ssize_tasdf read /*
read] I */(struct file *filp,char *buf,size_t count,loff t

*f _pos){loff tpos.pos=*f pos./* 00O OMOMO *if
((p0os==4096) || (count>4096)) return 0./ 00O 0O O0O OO
O,00000000000 *pos=-count.if (pos > 4096)
{count -= (pos - 4096).pos = 4096.}if (copy_to_user(buf, asdf_body
*f_pos, count)) return -EFAULT. /A0 000000000 O
**f pos=pos./*U00O0O00OOOOMO *returncount. /* 0 O [
O 00O 0O */}static ssize_tasdf write /* writeld U ,00 readJ [0 [
(1 */(struct file *filp,const char *buf,size_t count,loff t
*f_pos){loff_t pos.pos =*f pos.if ((pos==4096) || (count>4096))
return 0.pos = count.if (pos > 4096) {count -= (pos - 4096).pos =
4096.}f (copy_from_user(asdf body *f pos, buf, count)) return
-EFAULT.*f_pos = pos.return count.}static loff _tasdf Iseek /* Iseek
[ OO */(struct file * file,loff_t offset,int orig){loff t pos.pos =
file->f_pos.switch (orig) {case 0:pos = offset.break.case 1:pos =
offset.break.case 2:pos = 4096 offset.break.default:return
-EINVAL.}if ((pos>4096) || (posprintk("™ 7 : Iseek error
%d\n",pos).return -EINVAL.}return file->f pos = pos.} 100Test [
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